- 1. Multiplying Decimals by 10, 100, and 1,000
- 2. Multiplying Decimals by 10, 100, and 1,000

$$2.1 \times = 210$$



Preview

Please log in to download the printable version of this worksheet.

- 5. Multiplying Decimals by 10, 100, and 1,000
- 6. Multiplying Decimals by 10, 100, and 1,000



Preview

Please log in to download the printable version of this worksheet.

- Multiplying Decimals by 10, 100, and 1,000
- Multiplying Decimals by 10, 100, and 1,000

$$8.6 \times = 86$$



Preview

Please log in to download the printable version of this worksheet.

Multiplying Decimals by 10, 100, and 1,000

Multiplying Decimals by 10, 100, and 1,000

8.98 × 1,000 =____

95.2 × = 952



Preview

Please log in to download the printable version of this worksheet.

× 10 = 786

98.2 × 100 = ____

Multiplying Decimals by 10, 100, and 1,000

18. Multiplying Decimals by 10, 100, and 1,000

$$9.4 \times = 940$$



Preview

Please log in to download the printable version of this worksheet.

$$x 100 = 630$$

7.3 × 1,000 = ____

Multiplying Decimals by 10, 100, and 1,000

22. Multiplying Decimals by 10, 100, and 1,000

3.64 × 100 =

62.4 × ____ = 62,400



Preview

Please log in to download the printable version of this worksheet.

x 1,000 = 3,420

86.5 × 10 = ____

25. Multiplying Decimals by 10, 100, and 1,000

26. Multiplying Decimals by 10, 100, and 1,000

2.4 × 1,000 =____

 $3.5 \times = 350$



Preview

Please log in to download the printable version of this worksheet.

x 10 = 81

5.9 × 1,000 =____



Name:	
Task Cards: Multiplyin	g Decimo

als by 10, 100, and 1,000

16. _____

Preview

Please log in to download the printable version of this worksheet.



14. _____

29. _____

15. _____

30. _____

ANSWER KEY

Task Cards: Multiplying Decimals by 10, 100, and 1,000

1. _____3,600

16. <u>9,820</u>

2. 100

17. **58**

Preview

Please log in to download the printable version of this worksheet.



14. **10**

29. 986

15. _____**78.6**

30. <u>10</u>

Task Cards: Multiplying Decimals by 10, 100, and 1,000

This file contains 30 task cards.

There are countless ways to use task cards in your classroom. Here are a few ideas:

Preview

Please log in to download the printable version of this worksheet.



They can practice by solving the problems on the task cards together.